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1 5 9:30 1000m FaaqnL—zxml 10 #H 1T~ 3 9:10
9:50 4 ~ 6 9:30
10:10 7 ~ 10 9:50
2 = 10:30 1000m FRssaL—2xml 6 H 1T ~ 3 10:10
10:50 4 ~ 6 10:30
3 5 11:10 150m & 11 #8 44 LL—2A8 1 ~ 5 10:50
11:25 6 ~ 11 11:05
4 £ 11:45 150m & 9 # 44 LL—2A8 1 ~ 5 11:25
12:00 6 -~ 11:40
5 5 12:15 110mH(0.991m/9.14m) RB 1 #8 1 11:55
6 2] 12:20 110mH(0.914m/9.14m) 4 # 1 ~ 4 12:00
7 g3 12:35 100mH(0.762m,/8.50m) R 1 #A 1 12:15
8 £ 12:40 100mH(0.762m/8.00m) 5 #H 1 ~ 12:20
9 5 12:55 100m 18 #8 1 ~ 5 12:35
13:10 6 ~ 10 12:50
13:25 11 ~ 15 13:05
13:40 16 18 13:20
10 = 14:05 100m 15 #H 1 ~ 5 13:45
14:20 6 10 14:00
14:35 11 ~ 15 14:15
11 5 14:50 150m R 1 # 14:30
12 = 15:00 150m RB 1 % 14:40
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1 = 9:30 EE B 7 8:45
2 | Bk 9:30 =Bk 85 8:45
3 5 10:00 = Bk 13 9:15
4 5 11:30 ek 9 10:45
5 5 11:30 TN Bk 54 A-BEwk 10:45
6 = 13:00 = Bk 25 12:15
7 = 14:00 TN Bk 52 A-BEwk 13:15
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B | R 5t 1 B #E AN Ewbk BET TR
1 | B%x 9:30 P 1% 9:5 8:45
2 2] 11:00 Fa#L#%(5.000kg/4.000kg) 13-4 10:30
3 | Bx& 13:30 SRy H2a— 19-20 12:45
4 8 13:30 FatL1%(2.721kg) 17 13:00
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